

PROJECT NAME: 2022 Curb & Gutter Program PROJECT NUMBER:

0116U171 CLIENT:

BASE BID

Margate City
Bid Date:
August 25, 2022

ENGINEER'S ESTIMATE	Think Pavers Hardscaping, LLC	Diamond Construction	L. Feriozzi Concrete Company 3010 Sunset Avenue		
	125 Kings Highway	35 Beaverson Boulevard, Suite 12C			
	Mt. Royal, NJ 08061	Brick, NJ 08723	Atlantic City, NJ 08401		
	856-832-4680	732-262-7449	609-823-2563		
	((BB, CS, SS, etc.))	((BB, CS, SS, etc.))	((BB, CS, SS, etc.))		
UNIT	UNIT	UNIT	UNIT		

		QUA	NTITY	UNIT		UNIT		UNIT		UNIT	
#	DESCRIPTION	& t	JNITS	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
	F. I D. A. H. A. H.	100	DOLLAR	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
2	Fuel Price Adjustment Asphalt Price Adjustment	100	DOLLAR	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
3	Dense Graded Aggregate Base Course, 6" Thick	127	S.Y.	\$20.00	\$2,540.00	\$25.00	\$3,175.00	\$1.00	\$127.00	\$48.00	\$6,096.00
4	No Item	0	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5	Tack Coat	16.7	GALLON	\$1.00	\$16.70	\$1.00	\$16.70	\$1.00	\$16.70	\$50.00	\$835.00
6	Prime Coat	39.6	GALLON	\$1.00	\$39.60	\$1.00	\$39.60	\$1.00	\$39.60	\$10.00	\$396.00
7	Hot Mix Asphalt 9.5M64 Surface Course	16.2	TON	\$100.00	\$1,620.00	\$250.00	\$4,050.00	\$500.00	\$8,100.00	\$360.00	\$5,832.00
8	No Item	0	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
9	Hot Mix Asphalt 12.5M64 Base Course	16.2	TON	\$100.00	\$1,620.00	\$250.00	\$4,050.00	\$80.00	\$1,296.00	\$300.00	\$4,860.00
10	Underdrain, Type SP	163	L.F.	\$100.00	\$16,300.00	\$60.00	\$9,780.00	\$100.00	\$16,300.00	\$93.00	\$15,159.00
11	No Item	0	0	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
12	Bicycle Safe Grate	1	UNIT	\$790.00	\$790.00	\$290.00	\$290.00	\$500.00	\$500.00	\$800.00	\$800.00
13	Curb Piece	1	UNIT	\$650.00	\$650.00	\$250.00	\$250.00	\$500.00	\$500.00	\$550.00	\$550.00
14	Concrete Sidewalk, 4" Thick	15	S.Y.	\$90.00	\$1,350.00	\$110.00	\$1,650.00	\$135.00	\$2,025.00	\$130.00	\$1,950.00



PROJECT NAME: 2022 Curb & Gutter Program PROJECT NUMBER:

0116U171 CLIENT:

Margate City Bid Date: August 25, 2022		ENGINEER'S ESTIMATE		Think Pavers Hardscaping, LLC 125 Kings Highway Mt. Royal, NJ 08061 856-832-4680		Diamond Construction 35 Beaverson Boulevard, Suite 12C Brick, NJ 08723 732-262-7449		L. Feriozzi Concrete Company 3010 Sunset Avenue Atlantic City, NJ 08401 609-823-2563			
15	Concrete Driveway, 6" Thick	5	S.Y.	\$100.00	\$500.00	\$145.00	\$725.00	\$180.00	\$900.00	\$160.00	\$800.00
16	Reset Brick/Paver Sidewalk	96	S.Y.	\$135.00	\$12,960.00	\$155.00	\$14,880.00	\$180,00	\$17,280.00	\$170.00	\$16,320.00
17	Reset Brick/Paver Driveway	9	S.Y.	\$150.00	\$1,350.00	\$145.00	\$1,305.00	\$180.00	\$1,620.00	\$190.00	\$1,710.00
18	Concrete Vertical Curb	300	L.F.	\$35.00	\$10,500.00	\$42.00	\$12,600.00	\$70.00	\$21,000.00	\$53.35	\$16,005.00
19	Concrete Gutter, 18" Wide	213	L.F.	\$40.00	\$8,520.00	\$25.00	\$5,325.00	\$50.00	\$10,650.00	\$45.00	\$9,585.00
20	Concrete Gutter, 24" Wide	231	L.F.	\$45.00	\$10,395.00	\$35.00	\$8,085.00	\$60.00	\$13,860.00	\$46.00	\$10,626.00
21	Concrete Gutter, 30" Wide	56	L.F.	\$50.00	\$2,800.00	\$46.00	\$2,576.00	\$75.00	\$4,200.00	\$48.00	\$2,688.00
22	Concrete Header Curb	0	L.F.	\$30.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
23	No Item	0	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
24	As-Built Plans and GIS Data	1	L.S.	\$2,500.00	\$2,500.00	\$9,999.70	\$9,999.70	\$500.00	\$500.00	\$5,800.00	\$5,800.00
25	Detectable Warning Surface	0	S.Y.	\$450.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
26	Inlet, Type A	2	UNIT	\$1,500.00	\$3,000.00	\$3,000.00	\$6,000.00	\$5,000.00	\$10,000.00	\$4,600.00	\$9,200.00
27	Ductile Iron Culvert Pipe, 6" Diameter	0	L.F.	\$110.00	\$0.00	\$0.00	\$0.00	\$0,00	\$0,00	\$0.00	\$0.00
BASE BID TOTAL (Extension of Unit Prices):					\$77,651.30		\$84,997.00		\$109,114.30		\$109,412.00



PROJECT NAME: 2022 Curb & Gutter Program PROJECT NUMBER: 0116U171

CLIENT: Margate City Bid Date: August 25, 2022

| Think Pavers Hardscaping, LLC | Diamond Construction | L. Feriozzi Concrete Company | 35 Beaverson Boulevard, Suite 12C | Mt. Royal, NJ 08061 | Brick, NJ 08723 | Atlantic City, NJ 08401 | 856-832-4680 | 732-262-7449 | 609-823-2563 | ((BB, CS, SS, etc.)) | ((BB, CS, SS, etc.)) | ((BB, CS, SS, etc.)) |

ALTERNATE BID NO. 1					((BB, CS,	SS, etc.))	((BB, CS,	SS, etc.))	((BB, CS, SS, etc.))				
		QUANTITY & UNITS		QUANTITY		UNIT		UNIT		UNIT		UNIT	222400000000000000000000000000000000000
#	DESCRIPTION			PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT		
1	Fuel Price Adjustment	100	DOLLAR	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00		
2	Asphalt Price Adjustment	100	DOLLAR	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00		
3	Dense Graded Aggregate Base Course, 6" Thick	171	S.Y.	\$20.00	\$3,420.00	\$25,00	\$4,275.00	\$1.00	\$171.00	\$48.00	\$8,208.00		
4	No Item	0	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
5	Tack Coat	22.7	GALLON	\$1.00	\$22.70	\$1.00	\$22.70	\$1.00	\$22.70	\$50.00	\$1,135.00		
6	Prime Coat	54.6	GALLON	\$1.00	\$54.60	\$1.00	\$54.60	\$1.00	\$54.60	\$10.00	\$546.00		
7	Hot Mix Asphalt 9.5M64 Surface Course	22.1	TON	\$100.00	\$2,210.00	\$250.00	\$5,525.00	\$500.00	\$11,050.00	\$360.00	\$7,956.00		
8	No Item	0	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
9	Hot Mix Asphalt 12.5M64 Base Course	22.1	TON	\$100.00	\$2,210.00	\$250.00	\$5,525.00	\$80.00	\$1,768.00	\$300.00	\$6,630.00		
10	Underdrain, Type SP	252	L.F.	\$100.00	\$25,200.00	\$60.00	\$15,120.00	\$100.00	\$25,200.00	\$93.00	\$23,436.00		
11	No Item	0	0	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
12	Bicycle Safe Grate	1	UNIT	\$790.00	\$790.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$800.00	\$800.00		
13	Curb Piece	1	UNIT	\$650.00	\$650.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$550.00	\$550.00		
14	Concrete Sidewalk, 4" Thick	35	S.Y.	\$90.00	\$3,150.00	\$110.00	\$3,850.00	\$135.00	\$4,725.00	\$130.00	\$4,550.00		



PROJECT NAME:

2022 Curb & Gutter Program

PROJECT NUMBER:

0116U171

CLIENT:

Margate City Bid Date: August 25, 2022		ENGINEER'S ESTIMATE		Think Pavers Hardscaping, LLC 125 Kings Highway Mt. Royal, NJ 08061 856-832-4680		Diamond Construction 35 Beaverson Boulevard, Suite 12C Brick, NJ 08723 732-262-7449		L. Feriozzi Concrete Company 3010 Sunset Avenue Atlantic City, NJ 08401 609-823-2563			
15	Concrete Driveway, 6" Thick	5	S.Y.	\$100.00	\$500.00	\$145.00	\$725.00	\$180.00	\$900.00	\$160.00	\$800.00
16	Reset Brick/Paver Sidewalk	96	S.Y.	\$135.00	\$12,960.00	\$155.00	\$14,880.00	\$180.00	\$17,280.00	\$170.00	\$16,320.00
17	Reset Brick/Paver Driveway	9	S.Y.	\$150.00	\$1,350.00	\$145.00	\$1,305.00	\$180.00	\$1,620.00	\$190.00	\$1,710.00
18	Concrete Vertical Curb	328	L.F.	\$35.00	\$11,480.00	\$42.00	\$13,776.00	\$70.00	\$22,960.00	\$54.30	\$17,810.40
19	Concrete Gutter, 18" Wide	213	L.F.	\$40.00	\$8,520.00	\$25.00	\$5,325.00	\$50.00	\$10,650.00	\$45.00	\$9,585.00
20	Concrete Gutter, 24" Wide	231	L.F.	\$45.00	\$10,395.00	\$35.00	\$8,085.00	\$60.00	\$13,860.00	\$46.00	\$10,626.00
21	Concrete Gutter, 30" Wide	211	L.F.	\$50.00	\$10,550.00	\$46,00	\$9,706.00	\$75.00	\$15,825.00	\$48.00	\$10,128.00
22	Concrete Header Curb	21	L.F.	\$30.00	\$630.00	\$20.00	\$420.00	\$20.00	\$420.00	\$55.00	\$1,155.00
23	No Item	0	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
24	As-Built Plans and GIS Data	1	L.S.	\$1,500.00	\$1,500.00	\$14,999.70	\$14,999.70	\$500.00	\$500.00	\$5,900.00	\$5,900.00
25	Detectable Warning Surface	1	S.Y.	\$450.00	\$450.00	\$425.00	\$425.00	\$200.00	\$200.00	\$500.00	\$500.00
26	Inlet, Type A	4	UNIT	\$1,500.00	\$6,000.00	\$3,000.00	\$12,000.00	\$5,000.00	\$20,000.00	\$4,600.00	\$18,400.00
27	Ductile Iron Culvert Pipe, 6" Diameter	40	L.F.	\$110.00	\$4,400.00	\$175.00	\$7,000.00	\$200.00	\$8,000.00	\$130.00	\$5,200.00
ALTERNATE BID NO. 1 TOTAL (Extension of Unit Prices):				\$106,642.30		\$125,219.00		\$156,406.30		\$152,145.40	